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eExample 1 Convert Between Sl and Imperial Units for Length l example 3 Determine Stopping Distances

ResearC T B A e or A STophysics \I he distance required to stop a moving vehicle is the sum of the
made an announcement in January, 2001. They stated that they ; '(Il‘i::ances travelled during the reaction time and the braking time, The
had “frozen light” by using super-cooled vapour to slow the speed Y shows the theoretical stopping distance at various speeds,
of light waves to zero. The speed of light in a vacuum is defined as dlegis
299 792 458 m/s. ?kmlh
a) Estimate the speed of light in miles per second. :
: 35.6m 2 ¢ ;
¢) Calculate the answer, to the nearest mile per second. 1 <__g':r‘i‘;’;§r‘i"2‘:,es"9d
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L —~—time to stop vehicle
C) | 000 M= 0.2\ W\" 57.7m<—eiesgiac?§e to stop
RS M%M} =180 VT ™ )S a) What factors might affect the reaction time and braking
5 x = ; distances?
R g el ’S' b) If a vehicle is travelling at 100 km/h, approximately what
distance is travelled while the brakes are being applied?
=7 ¢) Convert 55 mph into kilometres per hour. What is the
‘ L approximate stopping distance when a vehicle is travelling
Example 2 Solve a Problem Involving Linear Measurements N at this speed? Express your answer in fiet.
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A scale drawing of one mat is shown. (yautrsion Rake = oL \R G v\ oty
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